SB Acoustics Rinjani

User Manual

Mechanical drawing (left side)

—-— — — —

+ =t —
i R S M -

l
T

30,5

s'ez

A-A'

S'89  S'89



Damping position and size

DACRON Soz WHITE COLOR T20MM

SIZE: 280MM X 150MM (STICK ON

THE TOP OF CABINET) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

X-CUT
FOR
PAPER PORT

DACRON 9oz WHITE COLOR T200MM
SIZE: 390MM X 150MM (STICK ON
THE SURFACE OF

ANOTHER DAMPING AT

VERTICAL POSITION) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 7T05MM X 160MM ("U" FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

SIZE: T05MM X 160MM ("U" FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

-
FOLDED]

SIZE: 175MM X 150MM
(EXTRA DAMPING ABOVE
THE BOTTOM DAMPING) 1PC

DACRON 9oz WHITE COLOR T20MM
SIZE: 340MM X 150MM (EXTRA
DAMPING ABOVE THE BOTTOM
DAMPING) 2PC



Frequency response

120.0

dBSPL

TLIO]

110.0

100.0

77T\

20.0

70.0

!

5

10 20 50 100 200 500  Hz 1k 2k 5k

0° On axis

15° Off axis

Technical specification
Frequency range : 42-25000 Hz +/- 3dB
Sensitivity : 89 dB/ 2.83V

Nominal impedance: 4 Q

Max SPL: 107 dB

Recommended amplifier: 50-200 W

Cross-over frequency: 3000 Hz

Speaker type: 2%2-way Floor Stand
Enclosure type: Bass reflex
Port tuning frequency: 35.5 Hz
Drive Units:
- High frequency driver: Satori TW29R (29 mm soft ring dome)
- Low frequency drivers: 2 x 62" Satori MW16P-8 (advanced midwoofer)
Cabinet: 18mm MDF
Dimensions (H x W x D): 100.9 x 19 x 46.4 cm / 45.87 x 12.41 x 20.47 inch
Net weight:
- Cabinet only = 18.49 kg / 40.76 Ib
- Full assy = 22.42 kg / 49.43 Ib

Special Features:

Advanced high-end drivers

Facets on top of cabinet for reduced high frequency diffraction

Inclined baffle for correct time alignment of drivers (allowing for simpler cross-over design)
Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

Internal bracing to reduce and distribute cabinet vibrations and hence lower sound coloration
Dual ports for distribution of unwanted pipe resonances

Inclined inner bottom for reduction of standing waves

Solid single-wiring binding posts



Assembling instruction

Part list (each cabinet):

® Screw Hex M4 x 30mm (for pedestal) 12 pcs
® Screw Hex M4 x 20mm (for drivers) 18 pcs
® Screw JFL M4 x 20mm (for terminal plate) 4 pcs
® Stainless Terminal plate 1pc

® Binding post 1 pair
® Port flare (installed on cabinet) 2 pcs
® Port paper tube (installed on cabinet) 2 pcs
® Damping (installed on cabinet) 1 set
® Rubber feet (installed on cabinet) 4 pcs

Tools needed:

® Hex key 3mm size (for driver and pedestal screw)

Hex key 2.5mm size (for terminal plate screw)

Philips screwdriver no. 2 (for crossover screw)
Soldering iron + tin (for soldering input wire to terminal)

°
°
°
® Hot melt glue gun (for sealing the wire hole)

1. Take out the cabinet from the packaging

2. Open the safety foam sheet.




3. Detach the pedestal by loosing the four screws in
each corner.

4. Place the crossover on the center section of
pedestal. Then put the input cable towards the rear
terminal side and the speaker wire towards the front
panel.

5. Pass the three pair of the speaker wire through
each holes on the bottom panel of the cabinet.




6. Seal all the cable holes with hot melt glue

7. Pull out the input cable through the terminal hole
then solder it to the terminal binding post

8.Mount the terminal panel into the terminal hole at
the back side

9. Mount the pedestal back to the cabinet then
tighten it by screwing in each holes ( 12 pcs screws
totally )




10. Pull the three pair of cables through the holes in
each each cabinet bracing

11. Hook up the cable to the woofer and tweeter
terminal

12. Mount the driver to the cabinet and screw them







ISOMETRIC VIEW

DACRON 90z WHITE COLOR T20MM
SIZE: 390MM X 150MM (STICK ON
THE SURFACE OF

ANOTHER DAMPING AT

VERTICAL POSITION) 1PC

DACRON 90z WHITE COLOR T20MM
'SIZE: 705MM X 160MM ("
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U” FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 8oz WHITE COLOR T20MM
SIZE: 175MM X 150MM

(EXTRA DAMPING ABOVE

THE BOTTOM DAMPING) 1PC

DACRON 9oz WHITE COLOR T20MM

SIZE: 340MM X 150MM (EXTRA
DAMPING ABOVE THE BOTTOM
DAMPING) 2PC

RIGHT SPEAKER

DACRON 90z WHITE COLOR T20MM
SIZE: 280MM X 150MM (STICK ON
THE TOP OF CABINET) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

4643

X-CUT

FOR
PAPER PORT

\\ Ni
SN L

A\

N

FOLDED:

N\
NN\

\

N\

\
N\

NN\
N

N

DAMPING SIZE AND POSITION

P | —— x-cut
FOR
PAPER PORT

X-CUT EXAMPLE

44,4

RINJANI SCHEMATIC MECHANICAL DRAWING

330

—o
& - —
9
=
<465
70
305 71,7 718 718 717
0|
<
&
- — ¢ —o¢ —
0]
o
e
© T
|
8

r T~ r— 1t

26,5




2
IN Tweeter
| |_Red =1 [”] Yellow -
! Reverse Polarity
1.80hm/10W )
2 Bk onm cl Black  +
CON2 6.8uF/400V TW29R
L1
.2mH/0.7mm
Mid woofer
L B Blue +
1mH/1.6mm
Black -
MW16P-8
=%
=—3.9uF/400V
1) Low woofer
L YN Red :
3.3mH/1.4mm
Black -
R2 MW 16P-8
1.50hm/10W
C3
33uF/100V
Title 9 0.8 0
SBA Satori Rinjani
Size Number Revision
A4
Date: 03-May-17 [ Sheet of
File: D:\My Documents\..\SBA RinianLSchDdc Drawn By:
2 3 4




NO. PART NUMBER Qry. REV NO | REVISION NOTE DATE DRAWN | CHECKED

1 SATORI TW29R-B (Sold separately) 1 | FOR R&D PURPOSE ONLY July 21,2017

2 672" SATORI MW16P-8 (Sold separately) 2

3 Rinjani Kit Crossover (Sold separately) 1

4 Hex Socket Screw 4x20mm (For driver) 18

5 Hex Socket Screw 4x30mm (For pedestal) 12

6 Countersunk Screw 4X20mm (For terminal plate) 4

7 Wood Screw 4x16mm (From kit crossover) 6

8 Insert Nut M4 (Installed) 34

9 Stainless Steel Terminal Panel 1

10 Binding Post (-) (Black) 1

11 Binding Post (+) (Red) 1

12 Seal Gasket (For terminal plate) 1

13 Seal Gasket (For pedestal) 1

14 Port flare d:50mm (Installed on cabinet) 2

15 | Paper tube d:50mm L:160mm (Installed on cabinet) 2

16 Name Plate ! EXPLODED VIEW

17 Grille for tweeter 1

18 Grille for woofer 2

19 Damping Material (See cut pattern) 1

ISOMETRIC VIEW
1 - -
NO | QTY DESCRIPTION MATERIAL / COLOR DIMENSION REFERENCE
J/ DRAWN BY | CHECKED BY | APPROVED BY|APPROVED BY| TITLE : Explode Drawing
@ G MODEL :
DETAIL A RINJANI
SCALE 13 ARIS S SUHARYANTO HADI'S SOEGIONO
PART NO :

CV. SINAR BAJA ELECTRIC

SCALE :

A4




NO. PART NUMBER QTy.
1 SATORI TW29R-B (Sold separately) 1
2 6%2" SATORI MW16P-8 (Sold separately) 2
3 Rinjani Kit Crossover (Sold separately) 1
4 Hex Socket Screw 4x20mm (For driver) 18
5 Hex Socket Screw 4x30mm (For pedestal) 12
6 Countersunk Screw 4X20mm (For terminal plate) 4
7 Wood Screw 4x16mm (From kit crossover) 6

Insert Nut M4 (Installed) 34
9 Stainless Steel Terminal Panel 1
10 Binding Post (-) (Black) 1
11 Binding Post (+) (Red) 1
12 Seal Gasket (For terminal plate) 1
13 Seal Gasket (For pedestal) 1
14 Port flare d:50mm (Installed on cabinet) 2
15 | Paper tube d:50mm L:160mm (Installed on cabinet) 2
16 Name Plate 1
17 Grille for tweeter 1
18 Grille for woofer 2
19 Damping Material (See cut pattern) 1

RINJANIKIT - EXPLODED VIEW

ISOMETRIC VIEW




S ACOUSTICS

Rinjani-Be Kit

|

-

User Manual



Technical specification :

Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver

- Low frequency drivers

Cabinet:

18 mm MDF
Dimensions (H x W x D)
Net weight (pair):

- Cabinet only

- Full assembly

Special Features:
- Advanced high-end drivers

Manual | Rinjani-Be Kit

:42-30000 Hz +/-3 dB
:89dB

140

:107 dB

:50-200 W

12300 Hz

: 2'%-way Floor Stand
: Bass reflex

©355Hz

: SATORI TW29BN

(Beryllium Tweeter)

: 2 6%" SATORI MW16P-8

(advanced midwoofer)

: 1009 x 190 x 464 mm / 45.87 x 12.41 x 20.47 inch

: 18.49kg/40.76 Ib
: 22.42 kg /49.43 Ib

- Facets on top of cabinet for reduced high frequency diffraction

- Inclined baffle for correct time alignment of drivers (allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower sound coloration
- Dual ports for distribution of unwanted pipe resonances

- Inclined inner bottom for reduction of standing waves

- Solid single-wiring binding posts



SIXe-4o ,0¢ : (pay ) —— sIXe-4o G| : (usal9 ) ——— sixe uo : (an|g) --——
1 anINY asuodsay

ZHI0Z A1 AS AT A 005 007 00l 0S 0z
0 oy
i 94
€l ! i 0S
0z SS
1z 09
€€ S9
E o
o or oL =®
Ly SL
€5 08
09 S8
L9 06
€L 56
-l
>
08 L= 00l

(9g-tuefury ) asuodsau fousnbaiy

=
p4
)
I
L
c
8,
£
©
©
]
c
]
=




=
p4
)
®
=
.8
£
&z
©
S
c
T
>

Mechanical drawing (size in mm)

A4

[¢33)

190

33,

464,3

340

A A NN

//////////m

086

AA



=
Y
v
o
*
=
.8,
=
©
©
3
c
]
=

©|
<,

=)
[

o

71,7

71,8

71,8

71,7

30,5

§'92

S'89  6'89

gz



DETAIL A
SCALE1:3

NO. PART NUMBER QTY.
1 SATORI TW29BN (Sold Separately) 1
2 6% SATORI MW16P-8 (Sokd separately) 2
3 Rinjani Kit Crossover (Sold separately) 1
4 Hex Socket Screw 4x20mm (For driver) 18
5 Hex Socket Screw 4x30mm (For pedestal) 12
6 Countersunk Screw 4x20mm (For terminal plate) 4
T Wood Screw 4x16mm (From kit crossover) 6

Insert Nut M4 (Installed) 34
9 Stainless Steel Terminal Panel 1
10 Binding Post (-) (Black) 1
1 Binding Post (+) (Red) 1
12 Seal Gasket (For terminal plate) 1
13 Seal Gasket (For pedestal) 1
14 Port flare d:50mm (Installed on cabinef) 2
15 Paper fube d:50mm L:160mm (Installed on cabinet) 2
% Name Plate 1
17 Grille for tweeter 1
18 Grille for woofer 2
19 Damping Material (See cut pattern) 1

Manual | Rinjani-Be Kit

RINJANI KIT - EXPLODED VIEW

ISOMETRIC VIEW



0€6

051 051 0S1 091 091 091

Gl

16>

0
G'ese

G0.

140d ¥3dvd
¥04
1No-X

ove

=
p4
v
I~
'
=
8,
=
4
©
>
=
]
=

08
(ww ul 921S) uidned ) jerdle buidweq




Manual | Rinjani - Be Kit

Damping material position (size in mm)

DAMPING MATERIAL A
DACRON 80z WHITE COLOR T20MM

SIZE: 280MM X 150MM (STICK ON
THE TOP OF CABINET) 1PC

DAMPING MATERIAL B

DACRCN 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

DAMPING MATERIAL D
DACRON 90z WHITE COLOR T20MM

SIZE: 390MM X 150MM (STICK ON
THE SURFACE OF

ANOTHER DAMPING AT
VERTICAL POSITION) 1PC

DAMPING MATERIAL C
DACRON 8oz WHITE COLOR T20MM

SIZE: 705MM X 160MM ("U” FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DAMPING MATERIAL C
DACRON 90z WHITE COLOR T20MM

SIZE: 705MM X 160MM ("U" FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DAMPING MATERIAL E
DACRON 90z WHITE COLOR T20MM
SIZE: 175MM X 150MM

(EXTRA DAMPING ABOVE

THE BOTTOM DAMPING) 1PC

DAMPING MATERIAL F
DACRON 90z WHITE COLOR T20MM

SIZE: 340MM X 150MM (EXTRA

DAMPING ABOVE THE BOTTOM
DAMPING) 2PC

i

%/;fl



=4
¥
o
o
)
F=
S
£
4
©
S
c
]
=

>oov\msnwk
+O
8-d9IMIN AOT/WYOG™ |
v wwi [ /HWE €
ANAAS
I9Joom MO —
>oov\"_=>.¢.%.
€D
8-d9IMIN AOT/WYo9'S
e wwy [ /HW |
XA
I9jJoom PIA <1
>oo:n_=wo.%_
0
MOT/WUYO6 g
e
NE6TML wwg 0/HW89 0C AO0H/AN6" €
1T 1D . soerd -
KJLae[og 3SIAY ; MOT/WUgo9 s e}
Il ~ e

19199M ],

NI

( 9g-1uefury ) anewaydS 1910SS01)




9 Manual | Rinjani - Be Kit

Assembling instruction

Part list (each cabinet):

- High frequency driver SATORI TW29BN (sold separately)......
- Low frequency drivers 6'2" SATORI MW16P-8 (sold separately)
- Rinjani kit crossover (sold separately)

- Hex socket screw M4 x 20mm (for drivers)

- Hex socket screw M4 x 30mm (for pedestal)

- Countersunk screw M4 x 20mm (for terminal plate)

- Wood screw 4 x 16 mm for crossover (from kit crossover)

- Insert nut M4 (Installed )

- Stainless Terminal plate

- Binding post

- Seal gasket (for terminal plate)

- Seal gasket (for pedestal, installed on cabinet)

- Port flare (installed on cabinet)

- Port paper tube (installed on cabinet)

- Damping

- Name plate

- Tweeter grill

- Woofer grill

Tools needed:

- Hex key 3mm size (for driver screw)

- Hex key 2.5mm size (for terminal plate screw)

- Philips screwdriver no. 2 (for crossover screw)

- Soldering iron + tin (for soldering input wire to terminal)

- Hot melt glue gun(for attaching the damping and sealing the wire hole)

2 pcs
1 pc
18 pcs
12 pcs
4 pcs
6 pcs
34 pcs
1 pc

1 pair
1 pc

1 pc
2 pcs
2 pcs
1 pc
1pc

1 pc
2 pcs



Manual | Rinjani - Be Kit

1. Take out the cabinet from
the packaging and take out
the raw damping material
from the cabinet

2. Cut the raw damping material
to 8 pcs of damping according
to the cutting pattern diagram

3. Place each damping part into
the cabinet according to position
diagram. Ad a bit of glue if needed
to hold the damping in place

10




1 Manual | Rinjani-Be Kit

4. Detach the pedestal by loosen
the four screws in each corner

5. Place the crossover on top of
the pedestal, then put the input
cable towards the rear terminal
side and the speaker wire
towards the front panel




Manual | Rinjani-Be Kit

6. Pass the three pair of speaker
wire through each hole in the bottom
panel of the cabinet

7. Seal all the cable holes with
hot melt glue

8. Pull out the input cable
through the terminal hole then
solder it to the binding post
terminal




13 Manual | Rinjani-Be Kit

9. Mount the terminal panel
into the terminal hole at
the back side

10. Mount the pedestal back
to the cabinet then tighten it
by tightening all 12 screws

11. Pull the three pair of
cables through the holes in
each cabinet bracing




Manual |Rinjani-Be Kit 14

12. Hook up the cable to the woofer
and tweeter terminal

13. Mount the driver to the cabinet
and fasten the screws




Find Us On

@K

www.sbacoustics.com



ISOMETRIC VIEW

DACRON 90z WHITE COLOR T20MM
SIZE: 390MM X 150MM (STICK ON
THE SURFACE OF

ANOTHER DAMPING AT

VERTICAL POSITION) 1PC

DACRON 90z WHITE COLOR T20MM
'SIZE: 705MM X 160MM ("
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U” FOLDED
AROUND THE MIDDLE CHAMBER) 1PC

DACRON 8oz WHITE COLOR T20MM
SIZE: 175MM X 150MM

(EXTRA DAMPING ABOVE

THE BOTTOM DAMPING) 1PC

DACRON 9oz WHITE COLOR T20MM

SIZE: 340MM X 150MM (EXTRA
DAMPING ABOVE THE BOTTOM
DAMPING) 2PC

RIGHT SPEAKER

DACRON 90z WHITE COLOR T20MM
SIZE: 280MM X 150MM (STICK ON
THE TOP OF CABINET) 1PC

DACRON 90z WHITE COLOR T20MM
SIZE: 705MM X 160MM ("U" FOLDED
AROUND THE TOP CHAMBER) 1PC

4643

X-CUT

FOR
PAPER PORT

\\ Ni
SN L

A\

N

FOLDED:

N\
NN\

\

N\

\
N\

NN\
N

N

DAMPING SIZE AND POSITION

P | —— x-cut
FOR
PAPER PORT

X-CUT EXAMPLE

44,4

RINJANI SCHEMATIC MECHANICAL DRAWING

330

—o
& - —
9
=
<465
70
305 71,7 718 718 717
0|
<
&
- — ¢ —o¢ —
0]
o
e
© T
|
8

r T~ r— 1t

26,5




Crossover Schematic ( Rinjani-Be )

IN

I —

+ Red

R]

Black

Tweeter

- Black

5 60hm/10W

[Il] —

9uFf4OOV L68mH/0.5mm

! Reverse Polarity

Yellow +

I'W29BN

Mid woofer

MW16P-8

LLow woofer

R2
3.90hm/10W
—=C2
——68uF/100V
-
1.2
Y YT Blue +
ImH/1.6
m mm R3 Black -
5.60hm/10W
—=C3
——4.7uF/400V
-
L3
Y™™ Red +
3.3mH/1.4mm
R4 Black -

1.50hm/10W

——C4
——27uF/400V

MW 16P-8




Technical specification :

Frequency range
Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
- High frequency driver

- Low frequency drivers

Cabinet:

18 mm MDF
Dimensions (H x W x D)
Net weight (pair):

- Cabinet only

- Full assembly

Special Features:
- Advanced high-end drivers

Manual | Rinjani-Be Kit

:42-30000 Hz +/-3 dB
:89dB

140

:107 dB

:50-200 W

12300 Hz

: 2'%-way Floor Stand
: Bass reflex

©355Hz

: SATORI TW29BN

(Beryllium Tweeter)

: 2 6%" SATORI MW16P-8

(advanced midwoofer)

: 1009 x 190 x 464 mm / 45.87 x 12.41 x 20.47 inch

: 18.49kg/40.76 Ib
: 22.42 kg /49.43 Ib

- Facets on top of cabinet for reduced high frequency diffraction

- Inclined baffle for correct time alignment of drivers (allowing for simpler cross-over design)

- Wedge shaped inner rear walls behind midwoofer for reduced direct reflection

- Internal bracing to reduce and distribute cabinet vibrations and hence lower sound coloration
- Dual ports for distribution of unwanted pipe resonances

- Inclined inner bottom for reduction of standing waves

- Solid single-wiring binding posts



SIXe-4o ,0¢ : (pay ) —— sIXe-4o G| : (usal9 ) ——— sixe uo : (an|g) --——
1 anINY asuodsay

ZHI0Z A1 AS AT A 005 007 00l 0S 0z
0 oy
i 94
€l ! i 0S
0z SS
1z 09
€€ S9
E o
o or oL =®
Ly SL
€5 08
09 S8
L9 06
€L 56
-l
>
08 L= 00l

(9g-tuefury ) asuodsau fousnbaiy

=
p4
)
I
L
c
8,
£
©
©
]
c
]
=




	1
	Drawing View1
	Drawing View2
	Detail View A (1 : 3)

	2
	Drawing View7
	Drawing View9
	Detail View A (1 : 3)


